Now, you try. Read the problems and use the number lines to help you
solve them.

Wendy pulled out 17 centimeters of ribbon to tie on a package.
It wasn’t enough so she pulled out 15 more centimeters of ribbon.
How much ribbon does she have now to tie on the package?
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+ = so Wendy has cm of ribbon.

Mark lives at one end of Main Street. Sonya lives

6 km away from Mark. Rachel lives 11 km further

down the street from Sonya. How far does Rachel
live from Mark?
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@ + = so Rachel lives km away from Mark.
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